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Monomials

Lesson 4.1 30 (03b*) (62bY)

MULTIPLYING MONOMIALS POCITLO RN PED
& POWERS OF MONOMIALS -

- 4o (-5x*) 3xy*)(2xy")
A monomial 1s a number 2+3H 24

a Vﬂf‘:&b‘e) o a p(‘OdW‘J =30 x Y =
of numbers and vanables., '

-30><‘°36

The following ae examples
of monomials™

1y Ta 33 Hmn*

The Tollowing are not ex- —
amples of monomials * when rmising a power
% \ o a power, multhply
mIn Ty 3a=dab 53 +he ex ponentsS:
@)= o’
when mulHipiging mon-
omals with the same N
base, add +the exponents: e (2a%h) .,
o’ =a™? Barb)*= 20l b =218
- 3 2 0® (% Y
o (x*)(x%) o, [
N2\ = U342 [ 5 (-x*9")’s )
CRICHER SR P

A neaative ra'\s_eﬁl g: |
yx (30?') (L}Q) | %gggr?vgower ST}
24

(3a2) (4a) = e =] 1243]




70 (-o2b)*

-a3b)? = ’, a"‘b'"]
A negathve raised to

Gy even power Is

positive

30 (AbHy)*(-b*)?
(8) b¥y*)(~b%)=

-81b'Yy*

8 (hx3g) (L xy?)’
(ﬁxbﬂz)(sx q)“

0 ® (3a3)>Cab®) (Fb)*
C270%) (02b°) (& b’-)

-12.58 b®

Lesson 4.2

.9 n
BX Y

'COMBINING MONOMIALS
& SIMPLIFYING MONOMIALS

Simplify -

1@ (3x3)* (-xy3) = (1) (x )
(@xH92)Ex3g )= (%29 3)(xy?)

(“c’"’-,j n)_(x

73n)=

-loxy"

20 (Le3b)Y (a3 HatP )Y isab’)
- (Bb?)82b) - (£ a%8°) (18a L)
(—103 !D'q)‘(laq bH) = |-4adp

10 [(3x92)’ ()}
(3309
[*z XL*‘:JC'_]S '

éxiltj.?.?

Lesson 4-3

NEGATIVE EXPONENTS &
DIVIDING MONOMIALS

When symphityin
wrh nega h'q?e_g
Cxponen s

-n .
x —

sl_'

1
X X
s

|
x—h




Simplify:
- — |L
|® 3 = |
o -2 [
2@ x Y = —9—7-_
20 242172 - 3a*
54 b 5b>
Lems = |
@ 2 n"m = pycs
Dividing monomials
with the same base:
Xn — h-m
m =X
X
B - —
5.% — m3 3 = mb
e N 3 ~(-2) 5
nZ N ={n
7@ Gan® n*
12.6*nN 20
g0 —2 972 | -gxy®
qe ga3bx”! b7
-Rab>c* 3o

-3, 25
D® -I5x 2! _ 3c2yd
e n< Cx44) -~ (x=9)
n<-3 =~ "
nx-\-—tj-x-i-y - nzg
e ***! - Ra+r)-Co+d)
ot T .
XZcL-H —a~4 _ xCL-B
2@ M - ébfzxﬂ)‘fxﬂa)
=N T 3q
-1 -2
2636972 3455729
Lesson 4.4
SCIENTIFIC NOTATION

Scienhfic notofion is used
+o express very large and

very small numbers, The
Format used!

O nuv bey wirh one +en
Agit left of +he x 1oa
decimal point power

Exomple : The sun is 93,000,000
miles From +he earth.
93,000,000 = 9.3 = |07

_3—-




1@

2@

1@

Express n scientific
Notation !

5684
5684, = |5.684 % 10®
(R

L0013
0013 = ||1.3 xio3

= |5.435x I0?

.I{axlos = {6 X 10*

Ase +the ‘FOIIOU.fuﬂg method
16 determing the exponent:

If you make the number
larger, make the exponent
smaller 2

L35 %102 = 345 x|

TF you make the number

smaller, make +he exponent
lavgex

268 x coq = 2,68 x noe

Express in decimal
notation |

F® 246 x o

6® 153.2 x 1o~

o1532 =
N, = ,Ot5 3%

Evaluate v Scientific
nototion ¢

70 (2 x103)GB.2xl0h) = 6.4x107

2® (.02 x o) (.5 x10°%)

L, OB X ol = 1.5 xio*
A

Qe %4 x 107
2, x 0%

4 x |0

2 :
o® 32X 10 HOO x go_L’ _E

o8 X107 T

Hx jo7*




yA J

Lesson 4.5

SOLVING AGE PROBLEMS

Define o variable (using
a chaet f helpful) and
set vp an equation 1o sohe:

Mavia is 8 yeoars older
+han Jose, Cayrla s 2
Years Youngevr than Maria.
The sum of Mavias age
ond Jose’s age (s 387 How
old is Jose 7

iowl
Mavia N+
Jose N
Cavr la

Note : Carla’s cge 1 not

needed v Solve
(n+8) + (n) =328

2N 4+ 38 = 3%
2n = 30 n=

15 Yes. old

Mavrk s V3 +he of
his Tather. & yeavs ago,
his father was 5 +Himes
his age. How old is Mark now:

new)  Goyrs ogo
marK N N~k
Fother 3n An-§

AIn-b = 5(n-6)
An-6 T 5n-30
24<2n n =

12, yes old

30 Rill s 25 and waker is 16,

How many years ago was

Rill twife "Waklers age ?
hotd X Yrs 690

2l 25 25X

Wa\Vevr I o io~X

25 —-X = 2 C”o_X)

25-X = 32 ~2X

X = |7 Y. ag0

H® Ra\ph s G years
older than Alice.
G Yyears ago, Alice
was 4 Ralphs age . How

?

old will Ralph bein 4 years:

byrsago now In Hyrs

Ahce In  3n+b

Ralph 4 Yndo  HNtIO
Hn = 3n+6

Nn= b6

Ralph in 1 Years:
HNn+10 = (34 4rs. ol




Lesson 4.6

SOLVING MIXTURE PROBLEMS

|® Hal has Homfl of a 25% copper sulfate solution. How
many mL of a 60% Solution shoull be added fo ruise
+he” concentration of copper solfate o Ho % 2
n= ml of +he 60% soluhon to be added
Sta ° Soluth % C = [F | /OCoper
(Solurﬂ?gvr?) (Sél%cf‘@r) (&'féeﬂ (Sz\gapﬁ) (Sé?u?ﬁon)(&vl'f:a*‘e )

(4o) (.25) + (n) (.6) = (Hotn) (L H4)

0+.6n = 16 + .4n

2n =06 e
" =30 20 m@| must+ be added GARFIELD

2@ How much water must be added 1o
S50mLl of a 70% acid solution ‘o
produce o 50°% acid solotion T

N = woater +p be added
@c})tfud;gg) (ZOC\ZF) (‘g}d&ag)(gz\zp) = :FS:c’)n!%!hon) (;{?cif
(50) (.7) + (n) (o) (50 +n) (. 5)

25 4+0 = 28 +.5n

10 = .©n
N=720 20 m2| of water must be added

M SORRY. DlD 1
WAKE YOU ?

}

38 How much pure nickel Mmust be added +o 2 Kg of a 0%
nickel 0‘”03 ‘1‘0 vaise +he concentration of nickel to 0% 7
n= pure nickel fo be odded

| o




Srening) (oo )+ () (0.) = (Fied) (Ve
(o) (.4%) +  n) () = (3o+n) (.6)

|2 +n = I8 +.6n
Mn=6
=5 I5 kg of pure nickel

H@® How much wateer shouvld be evapo»md’e‘d From 908 oF a 20%
salt Soluhon Jo voise +he concentvetion of Sal* o 30% ?

= water to be evaporated

S‘}u(‘h'ﬂg) ( % of \ _ (Na.:\-er o be) % o‘F) Final 0/0 )
Solotion / { Satt Bvoporated /| Sa 4 Seluhon

(a0) C.2) ~ (n) (o) = (90-n) C.B)
IB=0 = 27-.3n

-9 = -.3n |
n = 320 20 2 oF woder

/_C?
58 Ase o chart o build an e
equation when Solvin o=

move (omplex oge problems?

Mickey is 35 as old as Jidy,

Mickeys age 3 Years ago

_;: V3 TTudys age 7 Years 3(3n-3)= En+7
rom Now, How old will
Mickey be next Year 2 an-q = 5n+7

Hn = 16
oW 2yrsago InTurs n =4
Mmickey 3n 23n-3 Mickey howt 3n =
Judy  Sn 5n+7 ml'ckeﬂ nextyeav: |13 4es old

__7_.



Lesson 4.7

MORE MIXTURE PROBLEMS

Define a variable and use

an equation to Salve :

| ® Sue sold 1085 hckets for
+he game. Adult Hickets
cost $2.50 and student
Hekets cost $1.10, I¥F
she collected $202.30,
how mawny Hckets of
each Kind dic she sell ?

Adolt Fekets = N
Student hekets = 105-n

(2.50Y )+ (1.10)(105-n) = 202..20
2.5+ 15,5 - 1.1ln= 202.30
Yn = §6.8
Nn= Gx

105 ~-N=43

G adutt Hekets
+3 student hickets

2@ Chocolote chermes sell for
$3.25 a pound. Chocolate
coramels sell for $2.75
o pound, How many pourds
of Covamels should be
combined with 3 pourds
of chervies 1o procuce
a mixtuve That sells for

$3.05 o pound ?

= founds of cavamels

(2.25)3) + (2.75)Xn) = (.05)@+n)
Q.79 + 2.75n = 9.9+ 3.06n
= ,3n

n=2 2 pownd$ of caramels

3@ Mmike has 20 coins n nickels

and dimes and o total of
$£1.60. How many of each
coin did he have ?

Mmckels = N
dimes = 20-0n

Cb‘)(n)*—(@(#—vﬁ =160
BN + 2O —Ion = 160

-5n = =40
n=3g {8 nickels
20-N=IX 12 dimes

H® 02212 has $3.50 1n oms, He

has fwice ag many dimes as
nickels and Four Fewer quarters
Hhan dimes, How many
guarters does he have ?

mckels = n
cimes = 2n
guartes = 2n-4

SXnY+(10)@n) + GSYan-Y)= 350
5n +20n +50n —100 = 350
150 = 450
Nn=06
2n=ia 2 quarters
2n-Y4=%

-




X ﬁ)rudre}j has $3.85 n

nickels) dimes , and gquariters,
she has Pive wmove nickels
+han dimes and 25 coins in
o\, How many quarﬁers?

mexels = pas

dimes = n

c‘ucw-i-ex‘.s =z 25 - Cr\+n+5)
20~ 2N

B (M+5) + 10(n) + 25(20-2n )= 385
Bn+25+10n+500-50n=2385
-35n = —I40

n=4

qumr"re\rs' (20 -2n) =12 quarters

Lesson 4.8

SOLVING PERCENT PROBLEMS
DISCOUNT & SALES TAX

|1® The number of clob members

increased from A fo 1A,
Deteemine The pevcent
novease .

increase 3

- N
org, omfr 9 100
n=323%

22 Y5 % Increase

2.@ The price decrensed from $320

to $24. Find +he pevcent
decrease,

decrease & . n

nN=20
org. amt. 20 100

20 % decrease

30 Use the decimal method o

determine the price atec
Sales tox s added:

How much i) You pay for
a #1495 sweater after
7% Sals tox s odded T
(1.a5)(1.07) = 15.9965
15.965 & |$16.00

H® Use the proporiion method

Jo determme the price
before sales tax s added :

Afrer o B% sales +ox is
added on, Matt pavd $34.23
fovr vy electric Fan. what
was the price before 4o ?

atter tox 34,23 |05
org. price n 100

osSn = 343
n= 32,0

$22.,60

Note: The proporhon mthod
is ensier for “after fox problems,

_.q...




5@ Use dhe propov-tion metnad

o solve vrate of Aiscount
problems:

Lonce bought Shees oy
$20.9). ITF +the shoes

were on sale at 15% off,

hows much did he Save 7

elhing price  20.4) _ 85
Org, Price N 100
25n = 209)

= 24,6

Discount is origfpad price
minus selling price,

Diwscovnt = 24.60- 20.91

$3.69

4.1..

MULT. MONOMIALS
& POWERS

Multiply and Simphify ¢
@ (Ra?b) (2ab°%)
3 (4x=y?) (2xy4°)
€] CBX"‘) (—lxqj-”)
@ ¥x2y)(2x%)
®@ (3x7y) (Hw>y?)
@ Cax*v)(-6xty7)
@ (-2%5y) (2x*)
@ (-2n93) Gny)
@ Gxryrz) (2xFy*2?)
(r2xy ) (m2¢3x) |
® (5a2b*c)(~T7a2)
@ (2am>n) Czam™)

Simphfy
G 2> @ Y
@ Go2) (mz)°

® 57 -y°
[ @ m®)”




@) (Hxy) %) @ 2R

@) (20)*(39) ~ea®x5)*

@ (30 @ Haol(Rb)”
® Crawy @B G Cay) (2203
@ (4 x233)3 @ & X"j)z(:zl' 33)1
@ (»ab®)® 6D (Labd)¥oan)?

4.2..

COMBINING &
SIMPLIFYING

'm\)\-\-')plg and simphify:
M (r2s) (rs?)
@ (a*v) (ab™)
@ (ab) (ac)(be)
@ (mrn) (am) (an)
® Catay®(Hau?)
| @ (L a*) (bab™
D c)(12ad)
® (Fa)(Fb)(Hse)
@ (la“’)Cla?b")(-Saba)
© Hm>n?)=mHh5)(2mn)
Simplify ¢

® 2> @ )3

@ ¢ Cab>)(5a)>

3 (m2n2)t En*)®

® (=22)® (L9

@ % 9*)* (loy2)3

B (~3:393 (x3) - 30245(x5y)

@ (-202b)*(an>-2(@*bPeal?)

@) Ga)*(202b)+ 5a3 (wb3)
@ (“3-><°')5 2y ((2x5y)* |

@3 [(_l ijﬂs [( %a%ﬂa

4 _ 3 Prob

NEG. EXPONENTS

& DIVIDING

3fmlpl{ﬁj ; |
® wme " 2m®
@ x3 ® 3z x°y®
@ vt © 3a'b

-...“.._



Review:
G (3a2b)(-4a3kc)
@) 2x*9)? C—ZX‘jB)a
@ a (&) Ra)* (2a*)*
& (3x a) (—»«y)a- Bxs ) (x2y)

@ 620>~ (3a3b )Y+ (202)3(31)
O ("531)3 (‘:9-3)
@® )Y (x75)
44..
N Prob "
SCIENTIFIC q
NOTATION
Express in scientific notation:
D 429> D .oh2
@ 240,000 ® .0003)
@ 289,500 @ 32 <10
@ B30 284w 103
(® .oo0219 D) Hso % ot
@ L0000 - @ '3 % ‘0-2_
Express in decamal nofetion :
B rog5 x 0" @ L4 x 10>
® 277 %1 © 245 % 1072




Evaluate in scientific notahon:
@ (2x10%) o )5 ®) @.’2.3|><i(5_1

2.3 %07

® (4xi0*) (15 x10°) ;
@ 25 X0

@ axisDaxn®) © esx o7

@ (2 x16)(34x152) @B 25 x 103

5
@ g Xlo?’ , 4 xlo
l.6 % (o
@ 9.2 X (05 HAVE YOU
o ieen i
1,32 % 10 °
2.4 % 1o*
Review
@ (—lx5§j)(~3x32)
4
@@ (£ a29*)roy™)?
@ (a2b¥ (b)+ (2ab*)ac)(Ca)
@ 1262b70c
@ ~¢ ;"4‘:)65
. 8 b—-: C.3
6D -2 >
B niat: '
o2
@ 2K+3
azK-—.l

4.5...

SOLVING AGE PROBLEMS

Use an equation (and chart
i needed) 4o solve ¢

@ Abe. is 3 Years older Hhan
Mindy. The Som of +hewr
ages is 39. what are
+hew ages now 2

@ charlie is 14 years younger
tHian Jack . The sum o%
thelr ages is 74 How old
are they now 7

@ Twelve Jdears ago, Thea was
7 yeaes old. Th 8 years,
Thea wiltl be 2 Himes as
old as Nancy. Nancy is 2

Years EOUY’QQP"H’TQH Cﬁndﬂ-
How old s Nancey now ?

@) The som of Davids age
and Benws age is 0. Ann
is 3 years older than David.
Duvid is 4 vears older +Haan
Ben. How old is David?!

@ Barney is 54 Jears old and

Hugh is 23 How many

?_ears ago was Bamej?_%
‘mes as old as Bugh s

® Hector is now 28 and Henry
s 8. Twn how many wears

will Heclov be twice
Henrys age 2

D Ciont ad ago, the sum
oFgPe+2'es age av:d Mo++5

—12—



aone wos 26. Matt 18 Huears
o\%ex +han Pete. Pow 01:2! s
Pete now 7

® Dana is 3 years younger
+han Natalie, Tn 7 years,
the som of their ages will

e 63. How old are+hey now?

@ Shannon is % Years Younger
Yhan Susie. In 6/3@9«'5)
Shannon will be Y& ag old
as Susie, How old is Susie
now <

Jenmfer is 12 vears
younger than Tim. b Years
&30, Jenwmfec was Y2 as
od as Tm, tow old will
Tim be v 2 years ?

Review
5fmp|f‘€~j1
(—4><35)3("'%. xg“ag)* |

_eo‘zb-sc-\
-2ab*c2
-2

Hxy3z2~

-~}

@ © @06

3xn
X=%N

o2

Evoluate
<c). notation:

3 4x (0>
©) (20x102)(3.5x15°)

O1Txi5%

4 u 6 Prob

~ MIXTURE PROBLEMS

Establish a key and use an
equathon to0 Selve !

O M+ has 50o0ml of a 60 %
silver niare soluhovy, How
many ml of o 30 % soluthon
shoold be added to obtain
o 50°% Soluhon ?

@ How man _ htees of an 0%
cal¥ soluhion should be
added +to 0L of a Ho%
Solt solvtian to obhain a

- 50% solution ?

® A chemist has 2.5 9 of o
70 % oacad solution. Pow
much wodter should be
odded +o obtain a 50%
ocid solution €

@ How much pore coppev: must
be added tv 50 kg of a 2%
Coppetr Aoy o raise the
copper content to 20% 2

(B If 200 ml of o Jemonade.

mix is 0% lemon juice,
how many m of 90%
lemon julkce should be added
o raise the concentruhion
of lemon To H40S% In The
lemonade. wix ¢

@ A0 kg of a silver alloy
Contons 60% silver. How
moch of a 25°% a\lo_nj Shoutd
be added to requee the

...'l.)r_.




silvex (ontent fo Ho% ¢

@ 75Q D'F SD}U-HO!’) COH"’I‘OLW}-S
Ho% <ol How moch water
should be evaporwitecd 1o
rase +he concentrodion of
Salt o Bo% 2

® Moy has 48 mQ of a 25 %

ocid " soluton, How much
wetevr should be added o

obtowvt a 15% <olution 2

Review

Smphfy
® (3 a2 (Fary
(ab)? - (2a*b)(ab?)

D -2 x_z_\) 2”3
X3 :j—z 2""5
@ “60\.><+3
2 ax+5

Evaluade in scienwhfic notohon

3
@ L3 x o
05 x 102

@ Gsxi0)Gs=<iot)

“ohe !

) Sud s b of Mandys age.,
Syds age 4 Years ago
s V2 4 Mondy/s age ©

gear‘s From now. How old wth
yad be next vear ?

Jon s s of Karyn's age .
Jan's age 8 dears ago is
25 of “Karyns age 't years
From now.  Jan ' how many

2
Years Younger Fhan Karyn !

4.7

MORE MIXTURE PROBLEMS
Use an equation to solve:

D How much coffee coshing
£3 a pound should be -
mixed with 5 pounds of
coffee coshing $3.50 a
pound 1o obtain a mixtuve
ot costs $3.25 a pound?

@) Theatre Yickets cost $2.50
o children and $3,50 for
advl¥s, The price for 2
dickers was $22. Pow
monu odv I+ Fickets weve
purZhased ¢

3 Adrienne has 5 more
dimes Than nickels, T
all, she has $£2.30. How-
Many hickels does she
havé& ?

@ Lo has 27 coins 1n nckels
.—IS_




and dimes. In all, she
has $1.90, How many of
each <

® Drew has fwice as many
guarFers as nickels and
+hree movre dimes than
mckels, He has $4.20
n all. How mMany of
each does he have ¢

@ Jadke hgs Y4 Coms v
Nickels ) dimes, and
Guarters. TF he has 8
more Nickels Than dimes
and 4 7.05 in all, how

Moy of each does he
have 2
Keview

(D ‘How many Ko of a 0%

nickel alloy should be
added 1o 60 kg of o 20%
nickel alloy o obtain a
So0° alloy ?

@ How much poure alcohol
should be added 4o 304
of o 20% alcohol Soluhan

1o produce a 60% solvhon?

Smphify
@ (-2a3be)" (@)

®) ~daob2c2

| - b 2¢”
@ an b-2¥%

T Bax

Express in scenhfe notechon:
@ 0000532 @ 43, &0, 000
Evaluate in scentfic notahion:
@ 22 x107) (12 »16°%)
@ 6.4 x 10>

.08 x 1o/

Eskablish a chart ond make
on equation to sSolve

Tim is *5 as old as Tammy.
4 years ago, Jim was V7
as old as Tammy will be 3
years from now. How old
was Tammy 2 Years ago ?

4.8 ...

PERCENT PROBLEMS,
DISCOUNT & SALES TAX

Use Gn equoton 1o selve:

@ The pumber of club members
in creased frem 10 o 12,
Find The percent increcse.

@ A watch =ells for 415

- oFer 1 was marked down
Fom The onginad Price ot
20, Find the percent
decrease .

""6—




®) The price decreased From
$50 to $40. Determine
the percent decrease. .

@ Sam has
o cons,
He stacted
witHh 8.
Fnd +he

Percen +
N Ccrease.,

i

@)

@ How much wiill uou pa
or a $12 SWW‘P a1°~fev?
6%l Sales +ox is added ?

@ How much will you pay
Fov- o $3.35 book after
To% sales Fox is odded ?

@ Sharon poid $92.04 for
new school clothes. This
ncluded 4 % sales fox.
Whot was the cost before
+he +ox was odded 7

Millie paid $45. 10
ncluding 7% % Tax Tov a
Poic of jeans, Whol was
+he price before foux 7

@ Joson paid $13.96 fora
i £+ That was on sale

r 20% off whot was

+he amount of discount ¢

T o comern sells v
$18. 26 afFter o 1S %0
d\SCOMnT) w hod was e
amountof discount 7

ity e zass

Review
Ase awv equothon o salve :

@ Mmike is 18 and Elaine is 14,

How many vears ago wos
Elaine 272 as old as Mike ?

@ How much of o 0% salt
Soluhon shovld be added to
160 ofFa 25 9% solvhon +o
Procduce a 40% sSoluthon 7

@ How many pounds of cashews
at $1.607a pound should be
combined with 4 paunds of
pecans at $1.80 a pound to
produce o Mixture thod- sells
fovr $1. 68 a pound 2

@ Teanna has 35 cowns n aMl. She
has 2 more nickels Fhan dimes.
How Many guarters does she
have £ heyr wins toral $2,90 °

@ C329) > (3x*9)?
@ (202b3)*Eb) ~ C2ak)? (abz)* -
| ® -6a3bc*

~4ab2c®




Unit 4

REVIEW
PROBLEMS
Simphfy
D (3)(a*b) @ (Hozb)>
@ Gob)CHarr) B (Fb2)
@ CHAx)Esa3xt) © C"f‘x-zf)%‘i‘l_l)
@ (-2a2b)3(a2b) -3 (a*b2)*
@ Cxy>)?Gxu)+ (x9)* (12 45)

@ 343bc? M 3sb*

\8 a2b3cY 14 b3
OREEN) @) -4ab*?
2a7% 203

® (Fa?b)® (Hab?)?
@ (x29™)9 (Fx34)°

@ x‘-}n-l -1 nc>..-+2;
< N

Bx_

+3 Snl*-m

| Express in scievtifie notohon:
(@ 240, 000 , 0003 14
Evaluate in scentific potedion:

(2x102)64x5Y) @) @.Ix10")esxI15C)

@ How many

e
frrein oo

@ Jonice is 4 years older
thon Jymmy. 4 years
0\30) Jimmy was 34 08
old as Janice. How old
wil Janice be in 2 years:

@Y Tock is twice as old as
Till. Next year, IV} will
be 2/3 as od as Jack was
3 years ago. How many
years older is Jack ?

@ Sarah poud $H6.41 for
New guym_shoes, This
included 2% sales Yox.
Whet was the price
tox ?

@D Marcie paid $34.24 for.a
toble 1dmp. TF +he price
wncluded 7% +ax, how

much tax was added ¢

mL of an 80%
acid solution should be
added t©o 26 ml of & 4o/

selu¥ion to obtam a S0%

5o|0‘hbn ?

29 How much copper should be
added to 80 kg of a 50%
silver alloy fo reduce the
concentration of silver
o 20% °

_|8-.




@ Student hekets sell for $2.10
ovd cduld hckets sell for
$£23.,7s5. IF |bo tekets arvre
Purchased for £ 38.55, how
Many are student +Hekets 7

@9 How man ounds, of pea-
nuts ov\—(ﬁ‘c“sg)> ¢ per Pogicl
shold be mixed with 5
pounds of walnuts oF
$1.40 per pound Jo produce
a mixture That sells for
$1.05 per pound 7

@ Stan has 2 more dimes
+han nickels and a toial
of 18 coins. He has $2.80
in all. How many quariers

€2 Grace has 2 move dimes
than nickels and exactly

0SS Mman varters as she
hasMn'\c%e?s ond dimes
combined. T she has
$2.95, how many dimes
does she have 2

Unit 4

SKILL CHECK
Simplify :

@ C*%a"b)zc'lab")s

® C263b) - (4arb )at)

@ -2y ed
G X—S,jzz"Z

@ u43,296.3

Express in cientrfic nototion

® . 00046

Evaluote n
Scienh e
Nnototion *

® (ax193) (21 x102)

@. 14.55 % 1o/
L 23 %x o4

SolWve

® Joson is 4 Yeacrs older Than
Don. & 4ears from now,
Joson will be 2 Himes dhe
age t+hat Don_ums 2 years
a9o. Bow old is Jason ow?

@) $13.44 s the cost after
6% tux is added, Bow
much befove +oux 7

(9) How much puve copper

musH be added Jo I2kg of
o 20% copper alloy Fo
make o 50 %b Copper allogﬁ?

() Notebooks cost $.79 and
pens cost+ $.63, T+ I8
Fems are purcho«,SECl o
$11.98, how many were

pens ¢

(@) There ave 20 coins +hat

Total £2.40, There iS
one wove dime Than

....1q._



mckel. How many quaders?
Simphfy
@ ($%x>92) (-6 x*y)*"

@ 6 x*173
. _5xn+l

Unit 4
REMEDIATION
SimphFy

(-2a35*)° (~ab™)*

(-2 xaz)z— (Qg)nfﬁ Xj)z

~4 o3k
-2 a7 bSC“"\‘

® 6O O

Express in sclenhfic
Notation :

@_ 580, 000
® .ool03

Evaluate in Sclentific
Nnotation !

T ©® (2.5 x10°)(.22%159)
@ 544 x lo72

l\b Xlo‘b

Solve :

@ Judy is twice Alices age..
Three years Trom now, Judy
will b_}f.h‘i’bree Hmes Alices
a ree Jeavs ago, How
ofd is A’Hceanom 7

®$‘36.12 5 the cost after
5% tox s added, What was
the cost befove +ax ¢

@ How much water must be
added o 294 mL of o 60 %
sal¥ solution to Jower The
concentrahon 10 20% ¢

W 16 paperback books are
purchased for $27. TF The
books sell for $1.50 and
$ 2,25, how Many of each

ave purchased ¢

@ 26 coins Hotal $4.00,

Theve ave 4 more dimes
Than quarters, How many
Nickels ¢

| Simph £y
® (£ a3b3)* (Csab)?

™ -2 n3a+3
—4n %

—20~




Unit 4

EXTRA PRACTICE

g‘lm‘ali-Fb :

®© 2n*)(Bn")
@ (xy?23)( Py 22)
3 (B 22 b -ab>)
@ (bxPy22)axy>R)
B o ab)(ab*c2)-z0c®
@ (XBS z.) E4 .
@D E3aBe) = ab)2ab%»)
—10 "2y~
C —IBxyT3
@ 8n=">9

i 3X+2D

Solve |
The numbey- sF Playevs
on the +eam decreased
Fom 22 4o 28. Find
the percent decrease.

Express in Scientific
ngfwhon: _
D 93,200,000

Evaluaie in saentific
no“_lzd‘lon : .
@ (2 < 1678)(14 x 1073)

@ 24.1 x107°
ENE

- Solve !

D Thece are 22 coins worth
$2,20. Tl 4here ave 4
more. Nckels than dimes,

how many quarters 2

@B Jay s 12 years oder Yhan
n. 3 Sears +Fom nowl,
Devin wiill be halt as old” as
Jay was (ast year. How
old"will Devin “be next year?

(0 N icole pand F15. 37 after a
© % waga added on. wnad
was the originad price 2

@ How many of a 25 %
Sot solofion Should be
added to 10 kg ofa 60%
solution 4o loweir +he
concentration 1o 20% ¢

(8) Mys. Pomess pul‘chmsed
.?_o boOksngDr ﬁoer class<oom.
TF $108 was Spent on
hacd covexr books @ $9.25

each and Faperbacks €
$3.75 each, how many
Poper backs” weve purchaged ?

@D Andre is 3 years oldeyr

Than Tim. & Years ago,
Tim was only 344 as old
as Andve. ﬂ?:w old wiitl

Tim ke In 2 Years <

Simphfy ¢
@ (Y2 B xy2)




|®

‘Polynomials

Lesson 5. 1

DEFINING & ORDERING

- POLYNOMIAL EXPRESSIONS

A tewm iS & number,
voriable, Produd- ov
quotient of values.

An expression is a
sevies of +erms +hat
ave sepacoted by T
or ~ s\gns.

Tdentify as o term oy
Explession !

Q) -babe [Term]
b) 2x+3xyty>  [Ex]
AOFm+ L =gl
d) a+3 [exp]

A polunomiad s o
monowial or <om ot
Monomials :

Monomiod  ove Term
bynomial +wo Terms

rinomial  three terms

Iden'i-i% which exp(essmns
are poly nomiols .

20 a) ~3x2 +3& yes
b) ”‘ij*'% [vo |
C) —D\aﬁgj Itjesl
—s S ke |

The degree of a monomial

IS +he sum of +he exponey\'iS
of s varjabes.

The Qggfgg oF o poly nomial
is the g realest of +he
degrees of i¥s terms.

The degree of o Lonstant
is O. The degree'oF +he
valve. O is undefined.

Deter mine +he degree :
20 ) Bx* 2

b) ab% 4

) 23x

d) 32y

e) Ba*-ab +3

-5
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Arrange in ascending Lesson 5-2

order of x !
1O 3>y +5 —2x+‘-}><"t\j ADDING, SUBTRACTING, &

MULTIPLYING POLYNOMIALS
S-ax=3%*4+4x’ , :
ax=3x*A FHxy) Find +he sum 1n column Rorm:
Arcange in descending |® Go + 7b -2c¢ +4
order of x: =a + 4C -24

ca -~ 2ab -2c +d
%a +5Sb -4

ve % Xy = 93+ Yxt-2x3y3

ot - 22y 34 Hany —tfj

Find the dfference in colomns:

Add ov subtract:

2 5 20 3x* + Y - XY
6O (Hr3mn +2m>)+(@Nn 1 -5m) 5% ~29+32-4%4  cnonge
1212 =2 mn - 3m* S\gns
2x* + Y - x4  $add
2 3,2 N 4 1) S 2y -32 F4XY {._,.)
7® (‘éa ~ab+75b )“@a*ab+5 e +53-_3% Y 32y
So*-ab+ 20> -Lar4ab-L b>
e b2 = L2 Lbr Find the missing side :
' 20 r Pev\mekr
Be sure to distribute +he o5t lox +6
V="glan. Besuve fo :
SImply ol Fractions. 4x+5

Add +he +weo sides and
subtract from +he permcter

(2x-2) + (4x+B) = 7x+3
Oox4+6Y) — (7x+2) 2 3x+3

MSSING
Side - 3x+3




Two angles are complewents
if +he Sum of thew
measures is 40,

Two angles arfe Su‘pp!emti
IF +he Sum of +heir
measoves i1s 180,

Find the complement of
each angle !

4o Q)35 Qo-35 55
b) 2n  90-2n D3n
C) 4x—0 90-(Hx-10) [loo-4x

Find +he supplement of
€ach angle *

5F® Q) 2% 180 -2% IS
b) 5% 180 -5x 180 -5%
o) nHA  Igo-(m3) it

Eind the product:

6® 2x (xy - x2+2x2y)

bx* 4 -2Ax3+ 4x3y

7@ ~3a2b (Fab+203-Zab?)

~a2b2- 6o h+ 5h a3k

20 —% xy (x3y-3 x*+5xy3)

~3xty?t K3y - Yaxey

Lesson 5.3

USING "FOIL" TO
MULTIPLY BINOMIALS

Use FOIL o multiely

binomials ¢
Frest Outer Inner Last

(x+5)(x+7)
xT+ 7x+5% +35

%% + 1A% +35

® (ax-5)(5x+2)

15 %2 4+-6x-25% -0
15 %%~ 19%—-10

20 (20+b) (Ba-4Hi)

Ga2-%ab + 3ab - Ub*
ca*-5ab - b*

30 (n+h)(n-%)

A =g =

2 nt-3n -V

The produch oF o binowiial a
o rinomial ¢
4@  (2x+5) (3x2-5x +4)

633 -]0x + 8X
+15y* — 25X +20.
Cx>+ Bx2~|7x +20

-23-

Use column Form when F)'nd:;gg




50 (2nr3)(n*+3n+g) 20 (o +b") (- ")

In>+ Gnl-}-lqbn . Qsﬂ_ 2N
+ 3n® + 9n +24 _
213 + An? + 25n + 24 90 (25x2-34>*) (2x*+343)

]_')(Zo\_q:jﬁc\

Lessén 5.4 Lesson 5.5

SPECIAL PRODUCTS DIVIDING POLYNOMIALS
Divide :
1® (lox® +x =21) + (5x-7)

Binomial squaved:
@b = G*+r0b+b*

(a-b)" = o> -2ab +b* 2% +3
| 5x=7 | 10X +Xx - 2|
Product of a som 10 % =]4X

ond dvfference:
(@+b)(a-b) = a*-b*

IS % -2

Find each product

1@ (x+3)* x*+ bx +9
20 (3x+4u)* Gx® +24xu+ loy®
- * N 28 (Jox*=3x —1%) + (2%-3)
30 (3n-2m) An?-12mn +4m* ~
e (an_tj%)z. >< AR R 5% +6 "'%x-_%
. 2%=3 | lox*-3x 15
50 (3;a’(+5n3") A 304 25 o X~ 157X
[ A% =15
| O (3+1)(3x-H) qul"lc’ 12X -18
70 {n-m)Hn+m) | on*-m3] 2

....21_|,_



20 (63-8) + (a=2)

4% +20+4
a-2 |a? -8
a>-2a"
20%
2a*-Yao
Ha-&
“ha-8

4@ (2a-B1)+ (a-b)

y
263 +3a2h+2ald +3£3+Zf3/—b

a-b 4% b3
3a"-2a3b
3a3b
303h-2c2h
3arbh*™
30tb*-3ub>
2463~ b
2ok 3b1
zpH

50 (s -1bx3H X 18x+Y )+ (2xHx)

‘ 5”)(2‘ -ax +5 _t q/{x'z._,_}x_'

253 4Ux 4 | xS x 18+
634 ~12x>-3x>

— 3 HEX = 18 X

~hy® + g +2x
1ox-20x +4
lox*=20x -5

Y

Use +he specal product forms
o work with movre complex
biomials . |

Binomial squaved :
2n+3 -3\ 2
68 (3x2"73_ 14 y%2)
qX'-M Yo __l._l_len.}.ggx-)._’_ lbj‘zx'q
70 (o + 6K 2N3)*

a®" +—)2a3"‘ bh2N~3 43¢, hHn-6

Product of a som and
AFfecence ¢

30 (o™ m™) (30™ s ™+3)

> mlx'i'e

A}

qd@ (5a*"7'+3 bn-!-*-l)(sq"m-\_ 3 bw\-‘i)

25 o2 _ g, 2n+8

Lesson 5-. 6

SOLVING MOTION PROBLEMS

Fovr motion problems .
R=xT=2D

Rate = Time = Distance

-5 —




|® Dan and his wite Donna
leave home at the Same time

and travel in opposite direchons,

Dan drives 80 kmih Ckm per
how) awnd Dovina dnrives 72
Kmh, T how many hovvs
will they be 760 km apart?

N B o= d
Dan g0 . t = 0+t
Downa 72 . £ = 72t
&-onna, -~ an .
72T ot -
760 km

B0t + 72€ = 760
1St =760
+t=5

2@ fishton and Fremont are
220 miles apart. Tim leawes
Ashton at 430 Am and Russ
leaves Fremont at 10:30 AM.
T+ Russ dnives © mph Foaster
and they pass each other
at 11307PMm, how fastis

Russ dciving

X t =4d
Tim 'y 4 = Hr
Russ (r+5) . 3 = 3riis

o Tim Hr S ¢ Russ 3vH+5 _

m/-

330 wmiles

U + (3¢ +15) = 320
Tr +15 =230

N =315
=49

r+5 = |90 mph

3@ A¥ 3:00 AM Peggy leaves home
driving 35 mph. A half houv
latexr, Doug discovers she
left+ her suitcase, so he
drives S0 mph to catrch hevr
If Doug is delayed 1S minutes
by a €lar Hre, ar what Hime
will he catch Peggy ¢

Doug @ starts 3 hour leder
dc—:\aged ‘1-.‘; howr

Dovg anves % hour less
X X =4d
Reggy 35 . £ = 35t
2h\= -5
Doug 50 (& ¢) 5ot =

Pagaxﬂ 35t
Doug Sot - %%

Y

W

25£ = 50t —.'f_f
- - — 19

ot = >
t=2%

8:00 AM + 23 Am i

Doug will cateth her /L
ot [10:36 Am

...2(0_..




Lesson 5 .7

SOLVING PROBLEMS WITH
AREA & PERIMETER

|® The |en +h ofa redrangle
s 6 nches less +han ~3
+Hmes HS widHh, The per -
imetec Is 2& mches. Find
He dimensions.

2n-0b

) a

2(n) + 2(An-~-6) <23

Zn + bn - 12 = 2%

En -1 = 28

Zn = HoO

n=>9 5 by4 in,
2n-6 =9

2@ My, and Mrs. Danley planned
45 boild a \(‘ec.‘}ﬁw\ ulovr
deck that s 6 Fee‘\‘ longec
than it is wide, TF ‘Hﬂe,g
Conn offovd the extra
material, they would {ike
to ex‘rend ‘Hﬂe deck 8 feet
on Ywo of the sides, This
would mevease The area
by 272 £t* Whot ave
the onginal dimensions
Planned fovr the deck ?

Node ! Differenice between lar_a:.
and Small reclangle = 272 *

N+ b

B W Ll
|
|

n {
| N+8
ul In

* |

t

| |

| i

I ]

SR AL oL SR

O+~ n(n+6) = 72
(n*+22n +12)~ (N24en) =272
NZ4 221+ n2—n =272
lon +)12 = 272

tbvi = 16O
nh=10

n+6 =16

10 by 16 feet

@ The len ot of a rectangvlar
Painting is  inches less +han
+twice -g wid+h . Tt s
eracHy nside a Frame. that
is & nches all the way
ocound. The Frame has an
area of €9 m* what 18 +he
length of The mainting 7

20 -]

;
=
U

z+U




H®

Qn-)Mr3) - n@n-) = 69
Qn+5n-3) = (2p*-4n) =69
ZnZ+Bn-3 - 2n*+Y4Yn = 9
9n =72
n=25

2n -4 =

12 iches

IF the length of a square
i mcreasec\ bu Ycm and
e width is decreased by

Tom +Ine avea s decyeased

by 64 emz  What 15 +the
ovea of -Hms smaller
r\achcmgie

N n+4
L

2

2 - (n-D(n+H) = 64
n* - (n*=3n-28) =64
N*—n*+3n4+28= 64
2n =306
n =12

rectungle dimensions

N+ = 1k

1o by B
h-7 = 5 4=
aveg lb x5 = &0
| 30 ewm2 |

|
R
S5
L7

Lesson 5 .8

SOLVING PROBLEMS WITH
INVESTMENT & INTEREST

Simple Intevest: T=PRT
TInterest = Printipad <Rate <Time

|® Denpis mvested $1S5,000, part

2@

ot 2% and part ot 15 %,
He earned a +otal of $1995

v interest. How much was
invested ot each rate ?

n=$ Invested o* 12 %,
CIR2YW)+ (15)05,000-n) = 1995

2N+ 2050 -, 15N = 1995
-. 0% = ~255 - n= 8500

S0 at 2% , $6500 at 15 %

Covey invested 37000, pact
ot 8% and part at 12°%,
He earned 2360 more on

the 12% investwent, tow
much did he mvest at- 8 % ?

n= 3 vested ot & %

(12) (7000 -n) = ((08)(n)+3¢&0

FHO — . 12N =, 08n +360
=20 = -4g0

Nn= 2400 odd $360
o smaller
$2400 af investment
% 4 to aguolize
the ierest

~28—




5 n 1 Problems

DEFINING & ORDERING
POLYNOMIAL EXPRESSIONS
Tdentfy as a term or an
CxpresSion :

D n*+2m @a"+3b+—‘<-,_-

@ 2 +b-c 5 xy*2

® 5x*y @ 12ab2

@ < m2n ® 22+3b-%

@ v 1-3 ahove , mdicate
which terms or expressions
are polynomials.

-Tden'HFig as o mwomfa,l) o

binomial, or a. Frinomial:
Syt @ *-% 3
@ ut*rat @ Sa*b3
3 {9 -2
® D342z (D 36*x—Sa

Determine +the degree sf
ecoch pota-nomm:

@ x>

X4 24> +3 =23

@ 2902+ I7n2t*

@ H3xy + 2>+ 17rs
@) 2xy*a + Sxyz° + x"
@ p*re3estrer
@) 33xy + 5x

Avrrange W oscending order
of % :

@5 -7+ x* + 4%

GD -6% +x5 +4x3 -20

@ 2%x®> +5ax +al

Z'P:‘X +303)<3 ""'Pq.
r‘}rrange v descendn‘ng order
of %X

@ 5b + S bx + b3x3?

@ ‘-lxag +3xﬂq—x233+j"|’

G) Tadx-8a3x®+aT+ § x*

@D 2 x>y -x>+ 4+ EX

AAd o subtract:

G3) (Sax™ 3ax -5x) +Qax*~Bax +7x)
&) (FoFa+g)- (For+2a -%)
centnued
-249—




€ (Zm—dm+L)+(Fmzam+i)

6D (nZ+3n-7)+(3n™> -4n +8)

@ (Bm n%+3mn ‘Y\?’) - (5mn"+ W\‘}Qna)

€9 (x3-2x3y +Hxy*+ 33)‘_—-
C(TxE+ xPY = Oxy 4 y2)

5 | 2 Problems

ADDING, SUBTRACTING, &
MULTIPLYING POLYNOMIALS

End each suw in column

+ovrm ¢

D Ya +5b-6¢c +d

@

Ao - 7h tac +8&d

200 - b +7d
2x* -5 X +7
EXx*+Tx — 3
X% - % +1)

Fivd cach diffecence in
column fovm

5 x? -4 8 20=7
x4 Ex+Y Ea*+%a—||

Find +he missing side
aiven the perimeter :

@ P:SX*'BL:) +)<J)-/- \_\+"\9

© P=7x +2v @ P=ip-29x +10

¥ %
) +\5\ >.. \'b’“l
o & nXt

X2+ 7% +9

Fmd +he complement of
each angle :

® 70
@ 3x
X-2.
@.Zx-)-‘-}o

Fnd the Sup()\emen1‘ of
each angle :

@ 45 (D sx-10
@ ax (3 Sx+130

Find each product:

® 5x*y (B3x2-7xy +4*)
@ 4m* (Am*n +mn -Sn>)
702> (oat-Bab + 6b>)
(@ 252 C"ix”g - Txy +3")
@ —8xy (Hxy +7x -1433‘)
@D —T7ab (ab+ [lazb -l1b>)
@) ~F »(Ax* +x -5)

@ £a (10a*~1Sa +8)
conhnved
.....30....




73 '13; ab"%b"-%b-&-l)

€S <3 %y (12%*+8xy-%9>)

Review
Tdentify as a term o

exPressnon 4

G 3n>mp

Ba*+2ab + 6b*
Dndicate if +he Tollowin
ave polynomials, Fov eac
polynomial, identify as &

monomial ;" binomial, 6
tInomial:

@ Hx -3 x>
2022

& 2a1+%°—‘-'—l
@ H'xz-lxﬂ"'ﬁ:}"

Dedermine the degree of
cach polynomial:

& n-2p2
@ 122x1+351‘ Xje’

FAreange {‘in descending
ocrder ot x ¢

@ %2+ Jox>-3x +Q,

Be suwve o know how 'deseend-

ing " differs from "ascending "

5 N 3 Problems

- MULTIPLYING POLYNOMIALS
USING "FOIL"

mMultiply and gmplify
O (x+34)(Ex+29)
@ (794-1) (29-3)
® GBEm+21n)(8m-3n)
@ (5r-73) (Hr+3s)
B (x -%L) (ex+ Y2)
©® Gx+Y)(6x -'/2)
@ (Ba+3d)(3a+))
@ CSa+3) (5a+4)

MotHply In Column Torw:
@ (ax+5) (2%x2—5x +))
©® (HUn+3)(3n>+8n-9)
M (x-34) (3x*+5xy +4>)
B (5x-29) (6x*-Bxy +4yx)

Review

Tdenhfy as a term or
ex pression:

@ 2% *3)(5

@ Tmn?




Tdewtfy as a monomial, 4
binowila?, frinomial | ov & E Problems
on = poly nomial * -

® SPECIAL PRODUCTS
- It
’ S Hab Tind eadch proc\uo‘i‘i
@ 2x =3y @ rou N
@ ("lxhj)

Deteymine +he degvee of each @ (bm+anmy™

Pohj nomial ¢ - % (2&—'9)1
2. CHX’C“j)L
@ BXﬂE @ '3:,(33-] AX¥S %~
@ -2 @ o ® ( ) (3x-B)
— L 2, 3 © (8a+2k)(8a-2b)
@ 3a*b*-ac @) 4xg'z +6x*y7 @ C2n-m) Can +w)
. , ®@ (5o +3b) (Sa-3))
ﬁw:frxi:\ge in aScendmg ovder @ (= +2) (3Bx ~2)
@ Can-1H*
@ "‘:ZY'I’lrh5 + 15 - 3mn + V’ll @ CXBQ +33Q)L
Find the complement: ® (- gmy;_
= ® (20> - m*)
@ Ax -5 @ CO\n N 5}(7_,—,)?_
Fnd +he missing side: ® (a2 - b5 (a? +b5")
€O (x*+4") (x*"-y")

@ Cx3n+ 235n) (xsn _235}3)
(0\3"- 2, %%) (asx,,_ 3wa)

Review
Mo H‘iplj and sj'm()h"% :

@ (z2n-4) (2n+5)

(2x+34) (3x1+Y)

Q) (x+2y) (x> +3xy +5y?)
=32




Subtract:

@ 20*-3ab +5b*
Ha*-ab +7 2%

My H-fplj ‘
@ -2a%b (3a~"“-—§lalo s b2‘>

5 ] 5 Problems

DIVIDING POLYNOMIALS

(2x3 -7+ lox-15) + (2¢-3)
(Qod~11a*-3la ~T7) + (da+!)
(Bx3+8x2+x-7)+ (x+2)
(bn3+5n> +12)+ C2an+3)

(%3 +64) + (x+4)
(2703-8b3) + (3a-2b)
(x® - 2743) + (=2 +3x4+9yY)
(x*-y%) + (x-v)

(x4 = 4 1ox ~10) + (e 2x +4)

@RI ELEO

© (bot-Va®-a2+10a )+ (Rer-Ha+2)

Review

Determine the degree tor
+he se 901_3 novials ¢

@ Ga3b*-2ac’®

® -3%a +|
Sobtrac:

@) (4n -3mn +2m>) ~ G- 2mn -m?)
Bind Yhe complement -

@ 6o -2a +)

Find each product:
® -1 ab? (Fab>3a2b -12)
©® (3n+s)*
@ (a -7b) (2a+7b)
® (4n+35) (3n-8)

@ (40X +2a2*7) (40 =302 )
@ (3 T2 4 1)
@ (5x34~2 42 50\-\7%)(5)}&-7_-_ .’ijaH)

33~




5 n 6 Problems

SOLVING MOTION PROBLEMS

Ase charts and diagrams+o
Solve each problewm

O Two trans leave Bridgeport

ot +he same Hime — one
traveling north and the
othee sou t+h. The FHirst+
+rain travels HO mph and
the setond at 30 mph. Iin
how many hours will +he

+rains be 248 miles gpart?

Two cyclists are fraveling
in the same direction on
+he same (souvse. One
travels 20 mph and the
other 14 mph, AFter how
many hows will they be
15 miles apart ?

C)—QSQH‘S bood‘ leaves +he
pier at 4:00 AM at Emph.
A half houwr later Shavons
boot leaves +he Same
pier fraveling in the Same
direction at 710 mph. At
what Hme will -Shavonss
boat cateh up Yo Jason's 7

An express Fram Hravels
20 kph (km per hour) from
Clarks ville o WhitfNeld,
A passenger Train tyraveling
at 48 kph fokes +two hovrs
orge v Fo make the sawme
e, How fav apart are
the c\Hes of Clarks ville
andd whitfeld ?

@ Ike and

& Two planes leave Hhe Dollas

ot port and €1y in opposite
divections, They leave at
+he exact samé Hime with
one plane Flying 80mph
toster +han +he other,
After +hree hours ,they
ave 2940 miles apart
What is +he vrate of cach
plane 2 :

@ Jake lef+ home on his bi-

eyele for a long distance
cide. Abbey et +hree
houes later on hee motor-
cycle carrying Jakes lunch.
Her Speed was 42 mph, ITF
Abbey carches vp o Jake
in 1% “hours, how fast was
Jake traveling 7

mehssa leave
home at
lo:20 AM

on theiwr
b\Cgcles
+raveling

in opposite .
direcHons, Mehssa vides 2 kph
foster than Tke. IF '}'heﬂ
are N0 kKm apart ot 3:30
PM ;) how fest is melissa
riding ?

® AY Yhe same Hme that kris

lecives Ralrimore , Amy loves
Detroit. The cihes ace” 510
miles apoart. AWH drives 5 mph
Loster than ks, How fost
is kAs driving iF they pass
eoch othey in & hoves

....3‘.‘ -




Review
Find each product sing FOIL

or special produd- vules :
@ Gn+g)(3n-8)
© Gx-By*
®) Crn-dm) (n-3m)

@ CL}XY)'\"_ 233,1)2.
@ C3a4x+2__ L¥-3) (3 o2 bx-;)

Find the measure of +he
missing s\de :

» - .
@ 2 "-\-\ Perimeter
N W +4
2,4 o
Divide *

) (3x3-y2) + (x-24)

5- 7 Problems

SOLVING PROBLEMS WITH
AREA & PERIMETER

@ The length of a rectangle 1S
4 feet more Hhan Hwice +he
width, The perimeteris 116
Feetr Find the chimensions.

@) The length of a vectangle is

3 cm less than 4 Hmes i¥s
widb. The perimeter is S com.
Determine e aven.

@ The second side of o Friangie
is Hwice +the lengrh of +he
First, The +hivd side is 3em
less +han +he Second side.
Tf the permeter is 37 em,
what are +he sde measures ¢

@ An (sosceles Trangle has a base
7 em Shorter than Yhe con-
gruent sides. ITF +he permeter
IS Nem, what s the measvre
of +he base ?

® A rectungular gorden is B feet
longer than Fwice s widkh,
I+ bhas o sidewalk 3 Feet
wrde on_Fwo adjacent sides. The.z
area of +he sidewalk is 213 F
Find the dimensions ofthe garden.

@ Mrs, Mason hos a concretre pahio
in the backvyard with a length
2 feetr move +han 1= width.
TF she enlarges the pofio by 4
Feet on *wo adjocent sides; the
oxea of the potio will merease
baso{lﬁ-.z‘ What are the >
ongimal dimensions of the poto!

@ A rectangular photo is 2cm
longer +han H 1S wide, DF fits
exacHy in a Frame That s
tem all +the way around and
has an area of 32am” What ,
are the chmensions of the photo?

® A square oprden & surcounded
by o 2% foot wide sidewalk.
The area of the sdewalk is

-5~




145 4% what 1s +he area
of +he gavdewn ¢

@ The PenﬁHn sfF a rectavgle
£ 20 wavrds greater than
s ot , J:?#—he lenath is
decreased by B Yards and
the width increased by
yards, the area remaing
anchanaged . Find he
onginal length.

©® The length of a rectangle
is Tom less than twice
s width. IF +he lenghh
is increased by llem and
+he widih decreased by
b cm, the area decyeases
by 40 em? Fincd +he

orlgfnal aveaq,

Review

@ Michele drove from the
lake +o Uncle Rays cabin
in 3 hours, Chyris, dnving
12 mph faster, made +he
Same trip — leaving 30
minvtes later and drriving
I5 minutes Carlier. How
fur s i+ Hrom the lake
to the cabin ?

Mol+iply / Divide :
B @x+79)(3x~79)
@ Gn-m) (2n+3m)
@ a7t - ypx3)?
B Obn-10) = @+

5 ] 8 Problems

SOLVING PROBLEMS WITH
INVESTMENT & INTEREST

O Michele nvested 310,000
For one Year part at 3%
and part at 12%. Her ol
nterest By Hhe Year was
$a94, How wuch did She
invest af ecach vate ?

@ Steve jnvested
o total oFf
3$7,200 for one
year, port at
0% and Pa\"+
ot %, His
Yotal intevest
for +he Year
was $960. tow
much did he n -
vest of each vude?

@) Fred jnvested $B000 Ry one
qeav, part ot 1% and +he
balance ot 12% . His 9% n-
vestment Qavnec\' $1898 more.
Yhan the 12% nvestment
How much did he invest at9% €

@ Ansela wants o mvest $2500,
fort ot 4% and part at 2%,
IF she eorns The same amowit
of interest from both v -
vestments, how much should
She fvest at each vete 7
(Rovnd 40 nearest 1)

® CharlotHe Mvested her marey,
part of 8% and part at
\2% . She ivested #1500

.—36_.




more In the % investment,
but she earned +he same
amount of Interest for the

ecr From both invest—
ae)nfs. Hows much did sShe

invest ot 12% ¢

Ken mnvested 37525, part
or 16 % and partaf 11%.
He earned -hwice as much
fnterest on The money
mvested ot 1 % . Ho tu
much did he wvest of 16% ¢

Rewview

@ At leaves the offce at

@ Gx-yw*
B &= n’-‘ﬂdrmax)l
O Ra-2)Ba+x)

Pe_e'}- move Fhan :
- width, The gavden is

10:00 AM driving 50 mph.
Ar 11:20 AM, Jennifer, |

leaves the dRfice driving
in +he same direcHon at

NS mph, what +ime
will +hey {00 miles a(n/r’??
A garden has a leng th o

Fiice its

surrounded by a sidewalk
Fhatis 2/ feet wide. The
sdewalk has an area o
a5 £+ * What are +he
dimensions of The garden ¢

Mt ply /Divide -

@ (23253 +)Ix=20) + (o +1)

Unit 5

REVIEW
PROBLEMS

Prrran@e et h GxPreSS;ons

n Q) oscendling order of x

and B descending order of x:
@D Ox* -5 x3+a*x —3

@ 3x"t-x +><’f—5

Determine the degvee :
G Halbe —Bab>+ 12%?
@ 23x*43z ~18 + xy3

Detexrmime the Simphfied

answey
® (x*bxyt74™)~ (3 +xy-y>)
® (>F-5x+7)~(3x>+x2+2)
D Txy O+ gy -8y>)
® L arb (¥b2-Gab+10a2)

@ (Ix=-3)(x+4)

(2a.- 5b) (Hat+ib)

(D) x=4) (x*+5x ~7)

@ (a+b) (a* -2ab +352)

Determine +he o) Comp\emen+
and b) supplement :

3 ax -4 4 3n+7



Find the missing side

S, > Pevrimeter
N + 5n-~4
SN/
u ] 3 Permeter
A 6X + 2

Determine Yhe product

Uusmng SPQ.C.\OJ Producj‘ forms <

@ Gn+2)*

® (Ta~ub)y*
(3x-49) (3x+49)
@ (Bn+9)(5n-9)
@) '(xln_35n—z)l
@ (5C\n+s+._’b3n-l)2-
@ (Znsx—am"“)(an"‘-l-Bmx'“)
@) (5577 Y (52 -4b")

Determine the quohent:
@9 (2x-15x*+28x 20+ (%-5)
€0 (br3-13n* +4n-I¥) + (21-3)
D (a2-Tb3) + (a-2b)
€9 (x>+2y3) + (x+9)
Solve:

@ Karen leaves home dnving

32 mph. A half hour later,
her sister Gail leaves from
t+he Same place driving 4o
m_‘fh in +he Same divechon.
T+ Karen leaves home ot

1100 P, at what Hime will
Gall be 12 miles ahead ?

30 Sue dvives south at 30mph
Sharony leaves a half houy
later dviving 45 mph due
novth. IR Suve leaves of
430 PM, when will they
be 165 miles apart ?

@) Brenda Invested $9000,
Part at 8% and pact ot
12%. IF She camed 200
moye on the 8% invest-
ment; how much was
jnvested at that rate 7

RBen (nvested +/0,500 et

& af 10% and pau')ﬁ‘ ot &fb.
TF he earned $90 move
on the Jo%% investment,
how much did he mvest at
6% <2

3 The length of a room is
| Feet Tess than tHwice rks
width . What are +he di-
mensions it the perimeter
of +he voowm is 2 feet ¢

G4 The length of a vectangle
s Hemy more Yhan 2 Himes
s widvh, Whatis +he
length i the pecimeten
is T2cm <

@) &l s making a prctuve
Frame That s 4 inches

_58_



longex than 1t )s wide. The
Frame is 2 inches all +he
woy around. The area of
+he frame is 192 jn. *

a) What are +he jnside
- dimensions of the
Lrame ¢

b) What are the oufside
dmensions T

WHEN [ DIET,
I GET MEAN

=)

&0 Sandra’s garden is 3 feet
longee +han 1T is wide .
she” plans o put a 3-~toot
wide Sidewalk on Just two
adjacent gides of the
qarden. I the sidewalk
has an area of 72 H4*
what are +he dimensions
of the garden ?

& A rectangle has a length
Scm less thaw > fimes s
width. TF the length is
decreased by Hem and
the width is Tncreased by
Bem, the avea is increased
by 48 em. > What is the
ovrea of the original
rectangle ¢

G® A square Coonter fop mas
heeded Jo Anish the kichen.
When plans changed, +he
length of The tvp was in-
creased by & jnches and
the width was decreased
by b inches, The change
decreased the area by 38
in.% Whot was +he areca of
the original top 7

@ Phsha drove 252 miles +o
her avnts house ot 42 mph.
Her brother Gregq lefH 15
minutes later and araved
20 minutes earlier, How
Fast was he driving ?

Pob is driving HO mph .
ARYer Bob has deiven
20 miles , Jack Starts o
driving I the Same directon,
A4 whot rote must Jack
drive fo catth up to Rob
after Jack has been
driving for 5 hours 7

Note : The above problem Is

a challen ;n5 one . One like it
is ot on g fest; but under
standing This probfem will help
You wrrh all moton problewms.




®

@

@ W

| the length:

@
®

Unit 5

SKILL CHECK

Pot in descencling ovdeyr
of n:

lon?m™ 24 22+ Yam - 2n'm>
Deter mine the degree :
Ha2b -2k +2abic

Petermine The simplified

answey !
(He2-2ab + 62~ Qa*5ab-8b)
Gn-2) (n-bn+4)

Determine the Gngle

Complementary and supple -
mentavy Jo

G +6)°

Determine

| 3 Perimeter

I4n+ 8

Determine t+he producj‘:
(3{))(__ m3x+l)l

(4a-3b) (Ha +3b)

A’ﬂdg

De*efmine +he quo‘h'ev\f'.

@ CSXB*"-@S) = (2x+y)

Solve

leaves home ot 3100
PM driving 40 mph. Pawm
leaves ot 3i30 pM dviving
v The opposite divechon.
At what time will They be
570 miles apary if Pam is
anving 60 mph T

0, Ge@rge boilds a sdewalk

+hod s 2 feet wide to com-
pletely surround a garden,
The garden's length is 4
Feet less +han Fvice s
width. ITF Fhe sdewalk has
on aren of 174‘F+)2 what
ave Yhe dimensions of +he
Sarden ¢

@ Amee mmvests 500, TF

she earns Twice as much
Fromm her 19% |jnvestment
os from her 8% investment,
how Mmuch did she jnvest ot
each vrote 7

@ Sally has a squave poho.

IF 3he jncreases the
length by B m and decreases
Fhe w'td?*lfl by Sm)—H'ye,
area wil) decrease by 3om”
Wwhat is the origmal acea?

Continved

— 40~



# I LOVE SHOW BUSINESS. &
| GIMME THE FULL MOON. )
g GIMME THE FENCE :

@ A plane Plies between
two cites over o distance
of 2100 Mmiles a-l-‘ H20mph.
Another plane I€aves
the a\'rpoe“l‘ 30 mindtes
loter Gnd Grrives one
houv- Carhey. How Ffast
does +he second plane

Hravel ¢
Unit 5
KAWHOCK ! ¢

O Pot in Ae scending order

oF x .

|’+Xﬂ ~ .133 + %x"j - 23 Determine the angle :

' ® Complementary fo (2x-2)°

@ bPetermine the degw(‘ee'. and Supplementary Jo the

Same angle.
3)‘(3'& -)(232‘2 4+ L}ng 4

Find the missimg side:

©
Per:
8n +b
| ) Zn +1i
Determine the Simpiified | :
Gnswey : Determine the product:
B (bx*-2xy ~3y2) ~ (Ux>+xy-2y%) @ (5x™-y"3)*
@ (Ha +5) (2a>-3a -2) (2a -b)(Ba+b)

~Y}~




Detrermine +he quohent:
(Ha"-b") + Ca+b)

Solve -

Jenmfer leaves home o
2100 M driving
APter she has driven 5
miles, Sam leaves from
the same place dviving
in the oppasite direchon.
IF Sawm is driving 10 mph
Faster than Jenniter,
ot whot hme will They
be 150 miles apart ?

Michele makes a pictuve
Frame. that is 2 fnehes
whde all the way avound.,
ITF the pictre that
£its ‘mside is inches
lonaeyv Than 1+ 1S wide
oard the Frame has an
area of 69 in,* what
ave +he dimensions of
The pa'd-ure and the
outside of +he frame ?

Awdrex_)) ihvesks $10,000, part

ot 8% and part at 2%,

30 mph.

Aftec one uear, her 12%
investment —has earned much
more Fhan The $% jnvest-
ment. He has earned 348
move Than 2 Fmes as much,
How mueh hos been 'n —
vested at each yvaie 7

@ Camitﬂnfs rec-]-angular garden

has &~ lengthh = Feet greciec
Hhan Fwice It widrh,~ TF
Fhe length is decreased by
2 feetr and the width is
mcreased by 5 feet, +he
area is {ncreased by BE £+ 2
Determine +he original
area

Q) Fermee Brown drives o town

ot 36 mph and returns
home a+ 4H& mph. T+ his
total driving Hme is 3 A
hours, how Fur s his home
from Town <

71 DOESN'T |T BUG YOU WHEN DOGS
GET IN FRONT OF 900 J0oT
BECAUSE THEW WANT “O0R

ATTENTION
o

[Ew onvees 516

_..l.+2__



Unit 5

EXTRA PRACTICE

O Bt in desending order of x:
2xyq? <2y -+ ‘-}82-+,2>c3

@ betermine the degree :
Babc*- 2axb?- a b=
Simplify:
@ o> 2ab 32 )-Ea*-20b7b%)
@D Cn—z)fn—ﬁ) -
@ 2> (Bx —xT+14)
@ Clxﬂa) Co@—3x+1)
Giwven £ (Hn-5)°
D a) Name. the omplement-
b) Name. the. supplement

Determine the +hwd
Side.
: 2 A2 B

=
Perimeder = 8 x+2
Determine e peodudt:
® (Ba-B)"
| CHe2) (H%-3)

Tetermine the qustient:
W (3¢ xy-24" )+ (=)
@ (5a2-22) + (- b)

So e+

@Two cychsts are viding n
Yhe same divecton. Haory

is towvelling at 14 mph
and Jack ot %gfh TF They
started ricw 115 pm, a+

whad-ﬁme. wl
ey et [ Tbe_tj be 52l

D Socan leoves the campsie of
- +he same e as Am berx.
Cavah is ATWig 8 mph faster.
Atter 3 houes of daiving in

oppesiie divections ), they are

204 miles agart. szFaS}‘
5 Amber dﬂviq_g

@®The lengih ofF a rectamular

shorage coset is 2 feet less

+han twice Bs width, The
pecimetec of The twom is
20 feet: Find the dimensions.

@ A pdwe Fane is Y ‘mdies
all the woy acound, The
picture is Z inches lo er
Than g—FLs whde . IF;%
acea of the
£ird the dimensions oF +he.
PLcuve .

- @ The length of o (ectangle is

%—Fc_:\hemlom:h?Hn [ MeddT
: en s Mcreas
tom and ‘ﬁ)e width is de —3_

creasedb scm ﬂxda\reat s

2 Find
+he orlfnn b\":’

0® Jennifer mvested 12,000

foct oF 6% and the. rest act-
B % . IF #2380 wmierest wos
eomed in Jota), how much
money was wwested of 8% <

@( 23Xy 2%l )2

@ A plane -Phes between two

cries ovex o distavze of
 loHo miles atr 260 mph.
fmotrec plane leaves |5
minutes larer and arrives 30
minvies earher; Hoo) ‘fast
S the Seond p\ane.ﬂgm_q?

me is 24D\ m



Factoring ‘Expressions

Lesson 6. 1

FACTORS & MULTIPLES

&CF ¢ Bodoet of all +he

common prime factors

power.

t+o the highest commen

LCM: Product of all +he
diffevent prime factors

to theiwr highest power

Detevymine the GCF and
Lewy Fovr each monowmial !

[® 122b , 24a3bc | 46 abic?

ll = 22’3 2
24 = 23.3 GCF : 23
L}O = 23 .5 L<mi 2°.3°5

Ger = Yals  Lem= iRoadbic?

2@ 23 xy, 508, 35 n*

2.

23 = 2 Gef: |

CF:
20 = 2:3:5 Lem: 273547
35 = 57

QCF=| Lem= 420 x4yzh™

Use o Tactor Tree as needed

Lesson 6. 2

COMMON FACTORS

whnen factoving, alwovws stoet

by toking out +he GCF,

Foctor each expression :

l® lO:)Z + 154

5%(’2\3 +3)

7@ 2\ab? ~32 02he

20 (7Tb=-1lac)

20 120%b + 80> - 24 03¢

Ha2 (Bazb +2-6¢C)

HO G5x 2u% +14x?y + 2x?

125 (3%y* 479+ 1)

x4

TXY (3x~9)
- OY -

7 ($x-49)




20
20
He

5e

6o

VA

2@

Lesson 6.3

FACTORING THE DIFFERENCE
OF PERFECT SQUARES

Diffevence of Ferfect Squares |
a*~-b* = (a+ b) (a-b)

State whether cach binomial
is the diffevence oF perfect
Sguaves !

y9-25 [Zes] Bd-b"
Nb*-c? x*-|
x*+y*  Tno] ‘“%sx-9

Yes

Factor each (Polanomioxlf

a*-c* G ) (o)
n*-) G+ En-1)
lox?+ Ay not Factorm e
hat-35bt  [FarinEain)
ht -4 (n*+2) (n*-2)
3y a7y*

B(x*-Ay2) = [3(x+3y)(x-3y)
x = I(:X:j

% (xlgyd) = [ XOCHHY &Hy)

9@ B’ ~5on
5n (n-1)
5n (n*+1)(n*=1)

5n n*+D) (n+1Nn-V) |

|0.3a'0b7' - 3 &2 b:‘
262b* (a8~1)
362 b2 (o +)) (at-1)
3axb* (@t D@+ (6*-1)

30> Q) () @ +D@-D)

H.%"mz-?h

L (lom*-25n*)

4 (4™ +35n) (4m-5n)

128 (m+n)*-n"
[tm+ny+n] [mend -n)
Leme2m) ()

138 (2a4+0) ¥~ (ar3b)°

[2ob) + (arab)] [(2arb)~(a+35)
Qasb +at+3b) (2arb-a~3b)
(GaxrHb) (a-2b

Treot +he quantites as variables
arfd use dcliF of peried- squares

—y-




| ®

2@
3®
H®
5@
o®

7@

Lesson 6.4

FACTORING PERFECT
SQUARE TRINOMIALS

Pevfect Squave Trinomial
4a* + [2ab +9b*= Cat3b)”

State whether each is a
perfect squave trinomial:

X% 4+2ax +!
a*+ dab +b*
B2+ 2x + |
an? ~on + |
Cle'—lOcj-i-L}

Ux % 20 XY +2.537‘

[ges]
[ges |
- [yes]

Factor each polynomial :

X2 +22%+ (2|
loa® + 720 + &l
m*Gmn+ an”
1o x"-28xy tHay™

I8 -X X +F
2 (G *-12x +'-n =

Hazb + [Gab® + 160>
Ho(a+4ak + 4 b2) =

&+1DHZ

(Ha+a) =

(m=3n)*

not foctorable

2BAx=2)%

Hb (a+2b)*

Lesson 6-5

FACTORING x2+bx +c

Demonstration ! (<43)(x+7)

FOlL = X2+10x +2)

2+7

sum < C) factors
37

XE4+ by +5

Fo d‘v\rs'ng Trinomials

0%-8ab-20b* = (a-loby@+ab)

= (%4+B)(x+H)

Factor each
1@ y2+5y )12
20 0*-%a +18
20 yi+sBy-~14

HO X*+8x+%

50 023ab-28k* | (atdb)@-1b)

Hinemial ¢

(y1re)(y+2)
(a-6)Ca~3) |
(v 7 (y-2)

not pa—dumfolﬁ

L® Y4o3-)20%b -Hoa

Halo*-3ak -10b>)

Ya (a+2b)(a-5b)

7@

(o=b)* + 4 (p-0)-LD

E(a-b)woj [Ca—b)-éa

(a-b+10)a-b-6)




2@ (ax+y)*-3(2x+y)-54

[axv9)-a) (xryd+6)
Ox+9~9) (2x+y +6)

9@ ixa?’*l#x:j}'- 60xy
2xy (y>=794-30)
2x4 (y-10) (4+3)

Lesson 6.6

FACTOR BY GROUPING

Factor By Grovping
3xy~2ly +5x-35
24 (x=7) + 5 (%-7)
(%=7) ( 3y +5)

Factor ©ach poly nomalt:

1@ Byry -Bx =24 xy +I5

X (BxYy-5)-3 (gxy -5)
(XY -3) (x-2)

2@ Lﬁb\x +12a%c +2ba + 6bC
2 [20%x+6xC +ba +2bc ]

continued

2[2x (a+30) + pCaric))
2 Carae) (2x+-b)

3@ 15 —3xy +4y 20
3x(5-9) + 4 (4-5)
muitHiply by (=) twice
2x (5-v) -4 (5-Y)

(5-Dix-Y)| or | Y-BH=3x)

HO® x> —8X + 12 ~ 1 x>
${2x3-2% +3 ~3x>]
Hax (x*1) +3 (1-x»)]
Hax (=) =3 (x>1))
H(x*1) (2x-3)

4 (x+1) (x-]) (2x-3)

5o ot —o2b? + bt -Yarb*
a* (a*bB*) + 4ir Ch*>a*)
a%(a= b*) - 4b*(a>b>)
(0% b2) (a2 - 1h»?)

Ca+b) (a-byarab) (a-2b)

___% —




Lesson 6.7

FACTORING ax’+bx +¢

Factoring: oxZ+bx +C

<>+ 7% +b 2:6=12
2%+ Hx +3% +b
2AR(AFD)+30x42)  “om
(% +2) (2x+3) 7

Factor each expresSion
completely:

2x* +1lx +6
2.6=13
AN
@+ =1l
Ix2+AX 2R T 6
3x (x+3) + 2 (x+3)
(X+2) (3x+2)

20 Sx?-)T7x + %

514 =70
N
€O +ED = ~17
S5x*-10x - 7 +14
5x(x-1) -7(x-2)
(%-2) (5%=7)

BxE 1L xy + bxy Gy *
4 x (2x-3y) + 3y (2x-3y)

(2x- 2q) (Hxdy)

HO® 1¥a*+32cb ~30b*
2 (ba2+Nab ~10b*)

6 (Flo)y= -60

| /\

S+ P =1
3 [ba*+)50b ~Habo ~10b2]
3 Eba QatBb)~ 2b(20 +5.’>):l

2Qa+5b) 3a-2b)

ﬁq7;




6 N 1 Problems

FACTORS & MULTIPLES

Determine +he GCF and
Lem Yfovr each:

® bo* I18b* ab?

@ 3ox obx 1cx

@ bt Be 3a*b

D 15abe 35a*c (Sa
B 8a2b* 12a3¢* (Yabce*

® 20 xTy

1R %K 33

27 %Y 2%
@ 28atbC 36ab> 2|b%
® Bndm*  3bnimp* 24nm’p
@ 18q2b* 6b  420%2b3
@'2'—}0\25 28oxy 3bay
Q) O x*y> 35xz7> 28x3‘q2

® Bobx®y Hlox* Bxyz
@ “Yon3mt 3bn3m* (gonb'mZ
©@ 12xyz2 3o0abc 54n

B 24m*n? 20mn* 28 m3n"
® 23ba* 2yb* YSc*

6 n 2 Problems

COMMON FACTORS

Factor each expression:

@ 33(7‘3 +q57'+¢:

@ Ba* +10ab~15b*

D 203b*-16a2b? + 8ab

@ 23x>Y +9xy* +36xY

® 24 x>4* + 1_Axy + %

@ 28&o0*b>*+21a*bc"~ I4abe
@D 1xax +20bx + 32.¢cx

® a +azb +a3b3

@ ox*+B5bx3+qcex?
Ha3x + 19a%y + 1la32
@ 6x*-Axy t24x>y?

@ 3x+39
@ ETxy+3
@ -;—a-%'b-r

Review GCF ond Lam
3203b H0a%*bc HBaZb
@ 25xy H45x* S55y*a*
@ H4ndm? 240 m©@ 20 n®m®

~4yg -



6 n 3 Problems

FACTORING THE DIFFERENCE
OF PERFECT SQUARES

Stote whether each bi-
nomial s the difference
of perfect squaves :

x5

3ba*-49
4o
b*.25

OOHOE OO

D c*-7

a*-)
@ & x*+|

Factor each poly nomiol ¢

Q9 xl-al

® at-L*
x|
a*r-4b*

X 2y
20*-b*
s 4o

1
I

30 60006 6

Ex?%- Sy?*

ﬁdl

Gm> = 24n*

@ 2a3-120b*
@ x"-

@ o' -bt

@) 2% -2
@ tbox'-o°
@ Bni-eortn
€0 6a2b -2462
@D 2xyt-162x

2., 8

= 2
37 -3

@) Ex*- g

®
GD
)

®
@
©
@

Cotio)—m- @ o>-(b-c)*
x-9*-4* @D (arby -(a<)?
Pro(min)” €D (xyl-(d?

6 N 4 Problems

FACTORING PERFECT
SQUARE TRINOMIALS

Stede whether @achis a
perfed square Frinomiad :

O*+4va +4
xZ +10x +100
NT— 18 +36

4 - 24x +36

® qa*-ixnab +4Hb>

@

25 x* 4+ 15 %y +Ay™

Fodor cach polynomial

@D ar+i2a +36

SNCHORONC

b%+ 10b + 25

21 y* + 224 + |

Bln* +36n+4

25 b*-20b +9

Y x* -TAX + &)
...1_{.61._..




® m2*-1bmn +et* & 2n*-20n+50 @ a* +5a -50

O ax™2dxy by @ bo* +24ab it ® b*+2b g
®) 250%*+40a +9 ) |2d.°‘ +2ab+ 3> @ x*-10x +34
@ M+ 1680149 @ 35 -18be +27c> ® c2-2cd -ga*
€@ 2>+18x+a7 @ 2m*-16 mn +32n @ o*+2ab -3b>
. | M o* - bab ~32b"
Review .
@ m*—mn -bn*
Facror cach ' N )
poly nomiall « @D o™ ~ (Ga-2h) ® x*- Yxy-Sy*
@ xt-16 @2 240%b +8akb -12a> @ (a+o)~5(a+b)+ 6
@) 1wa5-32abt €D A xy 15Xy + Bxy> (x39) ™8 (x+y) 9
€9 9gxe-jas 33 Determine GCF /LM @) 3Ix>+15% - 108
@ Gx-yi-Griy)* CD ol 15413 Hgablt? @ 5n>-15n -90

@) Ho" +8ab -2 b*

Review
Foactow completely!
6 5 @ 3x*3gr
nWJ Problems @ 120b™ 343
FACTORING x?+bx +¢ @ +i0c+25
a,
Factor each +rinomial GR possible): © Hab>-Babe +jact
' Sx*- 20%Y + 20y>
O yrriny +27 ® c*r3c+6 @ (2a-363" - (a+Bb)?
@ x*+Aax +20 ©@ Y*-)z2r +20 Hx+39)e - O +y)2
+ob*+ ha*b - 2ab
@ th—)h.m-\-l’l @ at+ 220 +21 D = 4?4 !
Determing GCF /LCm;:
@ b2k 128 @ c*+10c +20 bark?® 18ake, 15 be?

—.SO-_
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SEOREN®)

Review

6 n 6 Problems

FACTOR BY GROUPING
Factor cach polynomial «
a*-ab +2ab -2b*
3%*+ Axy -axy -by*
Hox + 3ay +4Ybx +3by
x*+ 5%y +ax +5ay
Hn2 + amn ~2mn —bm>
Hy2 +4gy* -4y —Y

Sx3 4+ 10 x*-5x -0

203 -2 o¥b - 2ab* + b3
ay -ab +cb ~cy

20 - bbx +8b ~Ya
I0aZ ~sak +24b>-30ab*
3x3 =3xy T+ 3y3 - 217y

Factovr
Completely
y*-A9y -36
(04032 5 (atb)- &
Cx4)== 10 (eky) ~ 24
Bar - 32b*

Hgat -3
b2+ lbb+|
o> -4YZa + 22

(2n+3x)* = (n+x)*

Determime GCF and Lim:

® ©060

20 % 32‘2 2'+><3fj3 30 ,xl':jz 2*

Challenge
Factor completely:

@ x1-x*y*+gy* -qx?
@ 8aP-8a* +2 -0

6 u 7 Problems

FACTORING ax?+bx +¢
Ue* +5b -6
lba*-38ab -5b*

20x* + NI xy - Hy*

5b*-13p - 10

1Bx2-13xy +2y*

Hy* - 10y +6

9a* + 24ab +12b?
-5 -

@O OO




Factovr: GCF
Hxy*-bx>y +axy
3barb* - 12ab

fSRE)

Factor : Diffevence of
Perfect Squaves

qu—lbgl
Axt-3
202- 2 (a-b)*

© © &

Factor: Perfect
Squave Trinomials

Y? +ity +H9
2x* =20 Xy +B0 y*

®@ ® &

lba® - 12a. +9

Factor @ x*+ox +¢
£+ T v 7

203 b - 24q2b +70ab
(atb)*= 2 (at) - 8

®® Q@

Factoy ¢ eroup\'ng
3m\ﬂ'— 553 —ab + am
Hax - Hbx —?)bg +3ay

Tarm = Tbh*m +Bky -5a’y
G b*— 1D5ab +9a

O® © @

@2x"—7><5 +3y*

@ 3a°x1- 8 23'* +2 szj L'L-lbn'xh}
Determine GCF and Lem

18adbc* 25,20% H2atbe

Unit 6

REVIEW
PROBLEMS

PART |

Determine
GCF and Lim:

O badbe
20 able*
45 b>C

Foctor @ GCF
@ 3x°Y - 3x + bxy

Factoe « Difference of
Pecrfect Squares

@ glot -~ lob™

fFocrov: Perfect Sq voe
Trinomal

@ 126 + 12ab + 3b>

continved
— Sl -—




® & ® @

@ &

SECHONCE-NESECRONCNORCRS

Factov: x2+bx+cC
C+-23c +60
C=y) - 5(x-v) - 24

Factor @ Grouping
20x +bxe +ya +3ycC

ab*+mb*-lba - lom

Factow: OxZ+bx +C
2o —10ab — S b*
by*-19y +15

Factor: Using all methods

Bn*-30mn +F45SmMm™
S5o0* ~2a+3

3x* - 3(x+) ™

2mn? ~ 22 mn + 48 m

ba*-6bab +3cb -3ca

Bx® 4+ Yy -5
(a—b)* + 15 (a-b) - 54
320 — o

Sxk* = 3xm*_ dam* +Yal>

lox* - 4%y +Sxy - Ty
ngz_ ‘ﬂl*' :El - XZE’L
3yt - g

Unit 6

REVIEW -
PROBLEMS ™

PART Il
Petermine GCF and Lo ¢
@ 5 X533 @ T3 azblcl
[5x4y 25abc
12 xytz* 12¢3
Factor (if possible):
@) 24 a2b ~8atbi +32.a3c

@9 n*-%n+1o

@ x*-0bx =27 -
@ Y\L}‘-W‘lhlP T SR

@ 2a2b-10ab -l2ab +15

8 Ba*-3ab +3b>

@ xH-loy

G 150%-15ab +5b*-5ab
@) 12234 2Tx*Y -2 Txuy*

€D 32a3b* - gabt

@D 3Lxr-H¥xy + loy*

6 2ad-%a*b—bab + ba*

@) Tn®-7 ,

@ (x-9)* - 6(x-9Y) +9

@9 Ta*-22ab + 3b%

@®© ng - ng);

@ Qx+39)*- (x-9™

@ 3% b* -1+ 120> - 3arbT
—53—




Unit 6 Unit 6

SKILL CHECK REMEDIATION

Detevmine +the GCF and LUm: Determine the GCF and Lam:
O 12n*m 30 n*mx 54 nmx> D 75a°bc?
36 alo*c*
Factor (1 possible): 3 b3c?
@ n*=—)an +35
. Factor
@ Hx?-Bxy -y ' GF possible):
@ 6xy -3y>-qxy +1& x* @ n*+8n~33
B 10a® -45a*b +20ab* 3 7a* -gab -b*

®) '—ia"x‘ -126% - 24a + Sax

50 By CAT TREAT,”
WOL PON'T MEAN A CAR? @ o n?’ -33 W n* +1i5 m*y)
o

JQ D% @ Sax* -10bx* + 10by® ~Say™

A
e

@ 5x1-5x

7/t @ (3n+razm)*= 14Gn+2m) + 49
J‘?MPAV‘."&’E-Z{ ‘ @ Cza-Sb)" -'Cq-}-Bb)“
©® 206x-Ebx-24b +8a 2020207+ HSb* - L‘lbzm’-
@ 3n®-3 M 15xy —Ax*yz +21 xy3

(3(‘3)2— lo(2x~y) +25
@ Gxr) - (x=3)*
© 120%c - |207d* + 3532 3kt

@ Ha*b* +)2abe ~20ac?




Unit 6

EXTRA PRACTICE

Determine He GeF, Lam;
® 'bxzjz ) [8x?-33) 20)(?322
@ 12a®b¢%, 36ab’c? 304%bc

Fadstor @mg&e*dj (only me

expression 5 hot {B\cmmxble):

® 35+ 12xy*-24 Y
@ n?-1on+a5

® x*-Bx -2+

® a*+Bab+6b*

@ o> 2b*

I2n"=2n +20n-5
@ a6kt

© - 12%Y-3y*+xy
D x*-10xy ~3y*
® 20*- 8b*

® 2% 18xy +27y>
A Go*-1bab +8b> |
® 6n°-6n

©® TD=6G+y)+9
@ 20 +1Ix—3
® 25y -axy?®

| @(Bx-*a)z' (ax-89Y |

@ 35030+ 2By 1225

AND THEN BACK ).
THIS WAW... )]

IT'5 LIKE I NEVER
KICKED HIM AT ALL! Q

S8 GAY0 WA L




® O

©)

D
®

Cumulative Review

W A! v
Problems

QUARTER #2 REVIEW
Tdentify Yhe property:
2n +Cx+y ) = an+dx) +Y
If %x=3y and 3y=2¢,

Hhen * =2

Evaluate $he expression:
x= -3 , Y= -2

Solve the
Cquation

i - 5(2—?\—\) = |~ 3n

Solve for x ¢
Hxy - 3ab =3 (x+9)

Solve +he ineguality!

2n - 2 < 5(n-d)-4

Solve and graph:

2n-3<-7 & 2n¥ry >0
| 2a-8) +4 <12

Simplify cach expression:
Axy (x-3y) - 24 (x*+xy)
302 b2) -2 (ab)™®

® 0

Mo thply or divide :
(2x+3) (Bx-4)
(302 ~2b*) = (a+b)

® ©

Evalvate \n <crenhfic
notohion ¢

@ .06t x 157
8 x 107*%

Determme the GCF and LM

®

4ol e0ab3c 100abie®

Factor Compleﬂ‘ei:):

I(f)xg"* — ><5

120*+ [Oab - 8b*

(3o +2b)2 — (a-5u)*

arxf-Hatyt+36y* ~ Ax*
55—

e




Define a variable, set vp
on equahion ; and dolve

@) TFoor move +than four Hmes
a Numbey decreased bj Jwo
less than a number s
thiriy -nine, Find +he

num bexv,

@ Shavon earmms a base Solary
of %275 per week plus

5% % commission on Sales.
hat wevre hev sales i
she takes home $1056
during & +hree week perlod

@ The sSum of two cOnsecuhve

positive odd m+e ’vs is
between -6 and | Find

+he integers.

@ Wesley has 24 coins in
mckels dimes, and quar"\'ﬁﬁ
He has Htwo more dimes
Hhan nickels and $2.20
n ol How Many cimes ¢

@ A tuble lamp costs $25,97
ofFtec 6% tox is added.
what was the ociginal
cost of the lampg betove
Soles tax 7

@ How many liters of o 60%

actd splution ghould be
added to 104 of a 20%
solotion T produce o B0%
acid solution ?

@ Liz is 34 as ol as Jennifen
Lizis age 2 Jears ago was
half what Jewnifers age
will be 4 uears From now
How much older 15 Jennifer?

@) Kevin left+ home ot o0 Pm
dviving 36 mph on his way
o the camps ite.
brother Joe€ left 20 min-
vtes later and arvived IS
mmutes earhev. TR Joe
drove 4& mph, at whatl
Hme wil he arr\ve ot

the campsite 7
€3 A phatrogroph has a
length 2 rnches less

-anm Fwice 1S width. TF
i+ €its exacty inside o
Frame thot 75 VA nches
all ¥he way around, and
the frame Pas an area
of 51 in? what are the
- ovtside’ dimensions
+he Fframe ¢

G Amanda invested
%10 =00, part ot

0% o par"f‘ at
£ %0 annual ierest
She earned twice
as much on The
1%L nvestment,
Determine how
much Amanda
\:ﬂ\Je&Wd ot 80/0
intevrest.

...56.._




"W B "W
Problems

QUARTER #2 REVIEW
Tdentfy the properiy:
O If 2n=2m* then 2m™=2n

° (3)(3)-

Evaluate +he expression:
a=- b=-2 cz=2

3G Hab - 2a*bc

Solve +he equation :
@ zx- & = 2(x-)-7

Sol\ve for n:
® Hab +2n = m(n-2)

Solve the inequality:

® 2x+4 o 20xt+3)
7 - 3

Solve and graph®
@ n+H4 <an+6 £ 9-n
@ |ux-2)>10

Simphify each expression :
@ 2a Ca-b)-a* (b+H)-ab

® 4azb)3(3a3b2)?
M —lRa2b 3¢t
9ab®cd=

@ Yap>"
25 N4

Muitiply or divide :

@ (4x 1Y) (2x-3y)

@ (-9) + (x29)
Evaluate wn sclenhfic

nototion +
® (2.3 x 10%) (8.2 x 1078)

Determine
QCF and LCM:

5 %2y
50 xyz
21y =*

Factor
Completely :
™ 3a®-3
203-130%b +120b*
@ (a+p)*- 6 (at+b) +9
@D 18 ny* - Amy> +Hms-Enx™
contmued

~57-
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Define o variable, set up
an equation, ancd solve:

The largest of +hree con-
secotv@ odd Integers
decreasecl by six less
than twice the smallest
is three, Find the
middle integer.

Bills weekly income in-
cludes 3196 in salary
plus 844 %% Ccommission
on Sales. What were

his sales iF he +akes

home $617.60 ofter
+wo weeks ¢

Find an even integer if
2 less tHhan twice the
mteger is between (a

and 20. —

Lynnea has 22 cojns in
Nickels , dimes, and guarters
That total $3.70. How
Many dimes are There

F she has twice as many
guavrters as nickels ¢

Ted purchased a video
tor _$20.85% (ncluding 5%
Yox), Determine the

price before tax .

@ taw moch water must be

evaperated from HOm
of a 20% salt solution
1o roise +he concentrahion
to 15 % 7

Mark is Z as old as Bead.

Marks age in 4 years is
“Ys Byrach age in 3 years,
How old is Brad °

@) Sve leaves the park driving

20mph at 2:26 PM head-
ng due novrth. Ellen
leaves the park 45 min-
stes (atev heading due
sovth. AF 5100 Pm, they
are |45 miles apart.
How fast s Ellen drivfng,?

A ﬁho‘ho Nas a length 2
C

nches less +Hhan Fwvice
it width. what are (s
I'mensions £ i+ fits mto
an F5 In* rectangular
Frame with a uniform
width of 2% inches ¢

B melanie mvested 410,500,

part at 10% and pavt
ot 15 9% annual intevest
she earned $120

moye on the
IS %% investment:

How much did
she nvest

ot S
each o |
+he o/
ra ——




W C! ¥
Problems

QUARTER #2 REVIEW
Tdentfy the propeviy -

® TFa*= 12, then
az+|31: l2+b2

@D 0= (8mn)+(-Smn)

Evaluate +he expression:

m=-2 n=-l
@ d4mnr Gn-md*

Solve the equation -
® 2 (1><+-l+)—5=5x-3‘.;}-

Sojve tovr x:
@ Hy(x+3) = xy>-]

Solve the inequadity?

Solve and graph
@ 2n-3 71} oL 4-3n<I0
@ Ix-4l-» =213

Symplify each expression ¢
@ Hab -2a(b-3a) -Ha*+ab
© GEx*97)? (Ax>yg4)*
® -badb*c a3
~8a*b-5:34"°
@ 2)‘23 ‘+Y’!+3
x 5 H-Z

Moulhply or divide +
@ (Zn-2m)(n-8m)
& (Ba2-b2) = Ratb)

Evaluate i stientific
notatyon !

) 3.5 x 10°

Determine G}CFand LW
©® 16a3b

Factor completely:
@ 16n®-mn

24 a\zb}" IOOCJ.L.| ‘O




(® -bx-22xy +8y*
@ Gn-2m)*-(n+5m)*
AP IR TR RNE TR P

Define a variable, set up
an equafion , and Solve :

@) Two more thaw +hree +Himes
the lavger of Jwo con-
secuhve e@ven Integers
decreased by one less
than the smaller integer
IS negative three. Find
+he laroer in"‘ege»(‘.

@) Ton's weekly salary of $230
[ SUPp\emenTed bg 6% %
Commission on all Sales.
Tf he earns $1560.490

over o four week period,
what weve Wis Sales 7?

@ Four move thawn Three
Hmes a negative odd
nteaer 15 between —1&
and” 10. Deteyrmine +he

iﬂ‘ﬁegex‘ .

@) Julie has $4.55 in nickels,
dimes , and guarters. She
has 4 move quarters than
dimes and 30 coins in all.
fow many nickels does she
have 2

@ Jadzia Pc;\'\d $45. 05 for

shoes Uncludiing ©% tax).

What was +he price betore
the +ax was added ?

Q9 How mang kg of a 20%
copper alloy Should be
added to 12 kg of a 60%
alloy v prodOce a 25%
Cl“ocﬂ ?

&) Reth is 35 as old as Marla.
H years ayo, Beth was ¥3
as old as Marla will be
H years From now. tow
muth older is Marla <

@) Charlie drove to Middleton
at 48 mph. Ewmilio made
the same Frip atr 40mph
but i+ fook him one hour
movre. How fav s i+ to
Middletonn °

@ A 2-Foot wide sdewalk
Suvecounds a T’C?C'hﬂmsular‘
po\m\eﬂ. The length of

he garden s 2 feet
movre than twice it
widH, wWhat are the
dimensions of the garden
¥ the area gof the side-
walk. (s s £+ °?

@3&3 nvests
$8000, part
ot &% and
part ot 2%
annual 1n -
terest. TF
Ne wants
to earn the
Same amount
From each nvestment, how
much must he mvest ot
2% and how wmuch must
he (nvest ot 129 ?

_bo...



Quarterly Exam #2

REMEDIATION & EXTRA PRACTICE

Tdentity the property:

D (4 +2.2 = a rational

Bn'<%n) = ’

Evoluate +he expession:

X= =) Y= -
@) L}xgl—— 2 %°

Solve Ffovr x:
@ Hx-3y = Bxy +y*
2y + % = Ixy +7

Solve +he ineguality:
@ 3n - —Z-,f- < 5(n+2)

5%‘_ > -2 (2n-5)

I'LL LEAVE QOUR PRESENT

UNPER THE TREE IF YO0

PROMISE NOT TO FEEK
a

Solve and graph:
® |2n-71-3 >2
5+ |2n-1| 4 6

Simpli&y Cach erpression
® 26 (bt+3a)=d (o-4b)
2x(x-29) - 4 (3-3xy)

& (5a™2) 3a2h)°
G )™ (rge®)®
@ —I2 o’ b™>¢
~18a” b ™%

42 y3z”!
2 x3yCz

| Moultiply;
@ (n+5) (2n-H)
(2x-9) (2x-5Y)

COn +Hn ved




Divide :
© (562 +42) + (a-b)
(6><3+ 135%y+ | lxﬂ"-*-833)‘:"‘ (2x+§j)

E\/Ctluqﬁ'e v saentiFie
Notation :

) 560 x 107>
08 x 0%

32 % lo°
25 x (o

Determine GCF % LOM:

@ 120>, 280b%5, 3067

Ax>y ,25x*yz, 12y*

Factor completely:
E) 32><53" “.2><36
36 -bab +3b*

@™ 2x* + 7%y - 1By
120> + 1Hab ~ 6b™
Define & variable, set

op an equation, and
Solve :

(® Josh has 3 more dimes
+hon nickels and o total
of 22 cowns wovrth
$2.25. How many
guarters <

RBud has Twice as mny
guarters as dimes and
twie a5 many dimes as
nickels . I€ he has a
Totrol O'F' $;l¢50) how
™Moy nickels does he
have ¢

(16 How many ownces of an
20 % acid solution should
be odded +o 12 ounces
of a 20% solotion o
produce. a 50% solution?

How moeh water most
be evoporated From
G livers of oo 25°%
sa\t sootion 4o produce
o 15% soloton 7

@7 Jon leaves at 200 driv-
ing 45 mph, Lisa
leaves 15 minotes later
Ariving in The same
divection., How fast
must she drve Yo
carch Jon by 6:060 e

Scott leaves +he park
ot 10 20 dviving 36mph.
Pvad leaves an hour



later dviving in the
opposite dvechion of
22 mph. AT what Time
Wil They be 172 miles
apov T <

A phote with a length
2 inches mere than s
wdth T3S exactly in
a Frome that s &
nches all the way
avound, If the avea
of the Frame is 33in;
whot ave ‘he dimen-
sions of the photo ¢

A gavrden is 4 teet
longey than F is wde.
T+71s suyrcounded by

sidewalk that 1s 2 feet

all ¥he waoy avound.
€ $he avea of the

sidewo. Ik is B6FES
whot ave +he outer

d"i\fhe,nsfons of
sidewalk ¢

Factor completely :

Hozx = B2t + Byt oty

Sohe’
Matty is s as old

as Felipe, R years ago,
Mottty was half as old as
felipe will be 2 year<
From now . How old will
Felipe be nex+ year 2

Margaret is V4 as old
as Judy. In 3 years,

Mavgacet wiil be 31 as

old as Judy was 4 years
age. tow Many Yyears
older is Judy <

)
Yo

I RESOLVE TC BE LESS GEEKE
 AND MORE SOPHISTICATED

... HE SAIP AS HE BLEW
CHOCOLATE MILK BUBBLES
INTO HIS BINKE THE CLOWN MUG

2 DANRS =)




